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Intm (Part-1l) 2018 |
WMathematics Group-ll PAPER: II

Time: 30 Minutes| (OBJEGTIVE TYPE) | Marks: 20|

Now= *’wr passible answers, A, B, C and D to each question
are given. The choice which you think is correct, fill that
{.iu.—"" in front of that question with Marker or Pen ink in
the answer-book. Cutting or filling two or more circles
will result in zero mark in that question.

- "g\':coshxm

(@ —sin hx (b) sechx
(&) —sechx (d) sinhx v
2~ Solution of-! _xY_
(*a) X ~=¢ (b) ¥= c
© y—cx @ xy=cv

If at least one vertical line meets the curve at more
than two points, then curve is:

(a) A function (b) Not a function v
. {c) One-lo-one function (d) Qnto function

(rt

4- f sec? x dx:

(@) tanx v (b) Secs
{c) tan®x (d) secxtanx |
5- Domain of f{x) = x2 + 1: | >
(&) RY (b) R-{1}
(c) R-{-1} (d) [1, ] o
8- fsin_ X cos X dx:
@ %cos 2x - (b) —-% cos 2x
e 2
© sm2 X @ cos X
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13.

- (0) -

1 x =1(6), y = g(0), then 3 .

dx
dy do dx do
@geax Y  ® gay
dG dX o de
(© dyde () 36 do
d
Ay log, X =
. 1 - . .
@y (b) x/nx— X
1 e
(c) 3 /na Lo EES Y,
1 )
I 2 dx
(a) sin~! x (b) tan™' x
(c) - sec‘1 xv . (d) cosec™!x
d |
dx Sec hx=:

~ (a) sechx tan h x (b) -sechxtanhx v

(c) tan'h?x (d) sec h? x

, x2 'y?
For ellipse a2 H = 1, (a > b), then eccentricity e = :

' T 2 + b2

bz_az , (d) llb —32 :

, Hor:zontal line through (7, —9) is:
(a) x=7 ~ (b) x=-9
(©) y=7 . (d)y--9w/
Projection of vector u on vector v is:
- — —> —->
u.v
® M Chr)
- - — —3
uxV u x
© @) )
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System of lincar Inoqunlltlos involved in the prohlnm
is called:

(a) Coefficients (b) Solution

(c) Problem constraints v
(d) Boundaries

If v is any vector, then vector of magnitude 5

: =
opposite to v is:

- -
(a) 5v (b) -5v

—+ -
() 5— (d) -5V

WI vl
Equation of line bisecting Il and IV quadrant:
(3) y =X (b) y=—x v

1

(€ y=5 (d) x+y=1

~ Joint equation of two lines is ax? + 2hxy + by? = 0, if

0 is angle between them, then tan 0 =

-~ 24/h? + ab 20/h? - ab

@ —3+b ®) 735
3h2+a w)jh—a
a+b atb
Set of all points equidistant from a fixed point form:
(a) Ellipse (b) Parabola
(c) Hyperbola (d) Circle v
Distance of (x,, ¥,) from lineax+ by +c=0is:
lax, + by, +C lax, + by, - c|
(a) e+ b2 (o) Ja + b
lax, + by, +cl ~ |ax, + by, - ¢|
© s YT Jave

Focal chord perpendicular to axis of parabola is
called:

(a) Latus Rectum ¥ (b) Eccentricity
{c) Veriex {d} Axs
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